
 
 
 SEAT ASSY (TL2500) 
 

ventas@talariachile.cl cel: + 56 9 9415 7593 @talariachile 

 

 

 

Item Parts Ref. No. Description (EN) Unit Price（CLP) 

1 10428-56000-000 Bolt （GB/T 70.2）M5×10 Pcs  $      3.500  

2 50420-54000-000 Keyless Go Button Set  $     28.500  

3 44033-54000-000 Seat Fr. Decorative Cover Pcs  $     12.000  

4 50411-54000-000 NFC Pcs  $      7.000  

50412-54000-000 NFC Controller Set  $     63.000  

50413-54000-000 NFC Sensor Set  $     10.500  

10411-56000-000 Bolt （GB/T 70.1）M4×10 Pcs  $      3.500  

5 41012-54000-000 Seat Fixing Bracket Pcs  $     49.000  

6 10043-56000-000 Nut （GB/T 6187.1）M8×1.25 Pcs  $      3.500  

10382-56000-000 Bolt（GB/T 70.1）M8×60 Pcs  $      3.500  

7 41010-54002-000 Seat Assy. Set  $     49.000  

8 10439-56000-000 Bolt（GB/T 70.2）M6×12 Pcs  $      3.500  

9 10094-56000-000 Nut（DIN6926）M6 Pcs  
 $      3.500  

 

10 10605-56000-000 Screw（GB/T 845）ST4.2×13 Pcs  $      3.500  

11 10428-56000-000 Bolt （GB/T 70.2）M5×10 Pcs  $      3.500  

12 10797-56000-000 Thread Clip M5/11×17 Pcs  $      3.500  

13 51080-54000-000 Tail Lamp Set  $     28.000  

14 32431-54000-000 Tail Plastic Cover Pcs  $     15.000  

 


